
備考

部品表   K 2-P
番号 部品番号 数量 品名 材質 サイズ

1 P-31516 1 ホンタイ（K2-P：ﾅｲﾛﾝ66） ナイロン66

2 P-31524 2 ハウジング(K2-P) PP

2-1 P-31526 2 エアハウジング(K2-P) PP

3 P-31535 2 ダイアフラム(K2：φ100,ﾃﾌﾛﾝ) テフロン 0.8tx100D

3 P-31542 2 ダイアフラム(K2：φ80,ハイトレル) ハイトレル 80D

3-1 P-10848 2 Oリング(φ72.6x3.52,ﾆﾄﾘﾙ)AS568-233 ニトリル AS568-233(72.62Dx3.53)

4 P-70672 2 プレートナット組(K2-P) PP

5 P-31079 2 内プレート（K3：φ35,PP） PP 35D

6 P-42412 2 プッシュピンボディ(K2) 真ちゅう

7 P-42411 2 プッシュピン(K2)

8 P-30987 3 Oリング(7x1, ニトリル) ニトリル 7Dx1t

9 P-31517 3 Oリング(K2：IN3,ﾆﾄﾘﾙ) ニトリル 1N-3

10 P-10829 3 スプリング(0.6x5x10,SUS) ＳＵＳ 0.6x5x10

11 P-30205 2 Oリング(P22,ニトリル) ニトリル 22D

13 P-10392 2 平座金大(M6x16,鉄) SUS M6x16D

14 P-30308 2 パッキン(Q6:ｼｬﾌﾄ用Uﾘﾝｸﾞ)

15 P-31520 2 Oリング(K2：IN53,ﾆﾄﾘﾙ) ニトリル 1N-53

16 P-42398 1 シャフト(K2) SUS303

17 P-31541 1 バルブカバーゴム(K2：穴ﾅｼ)

18 P-31540 1 バルブカバーゴム（K2：穴付） φ6ｘｔ2

21 P-31532 1 排気カバー ナイロンPA

22 P-80233 1 マフラー組(K2：1/8") 1/8"

31 P-42421 1 プラグ(K2-P：1/8",PPG) PPG PT1/8

32 P-31527 2 スタンド(K2-P) PP

34 P-80234 1 減圧弁組(K2：1/4") 1/4"

35 P-80232 1 ゲージ組(K2)

36 P-42414 1 プッシュピンカバー(K2) ﾅｲﾛﾝPAG

37 P-31530 1 復帰バルブフタ(K2：PPG) ﾅｲﾛﾝPAG

38 P-31533 1 バルブケースカバーB(K2：PPG) ナイロン

39 P-42399 1 スリーブ(K2) BSBM

39-1 P-31519 6 Oリング(K2：IN18,ﾆﾄﾘﾙ) ニトリル 1N-18

40 P-42400 1 スプール(K2)

44 P-10849 1 ネームプレート アルミ

49 P-42405 2 バルブシートOUT(K2-L,P) PPG

51 P-42404 2 バルブストッパー(K2-L,P) PPG

52 P-31525 2 マニホールド PPG

53 P-42438 2 補強リング SUS Φ20xφ22x7

54 P-42406 2 バルブシートIN(K2-L,P) PPG

55 P-31549 4 ボール(K2：φ13,ﾃﾌﾛﾝ) テフロン 13φ

55 P-31566 4 ボール(K2：φ13,ﾊｲﾄﾚﾙ) ハイトレル 13φ

55 P-31567 4 ボール(K2：φ13,ｻﾝﾄﾌﾟﾚｰﾝ) サントプレーン 13φ

61 P-10821 4 六角ボルト(M5x20,SUS) SUS M5x20

61-1 P-10839 4 平座金（M5,外径10ｍｍ） SUS M5,外径10ｍｍ

62-1 P-10687 4 スクリューネジ(M3x10)ﾌﾟﾗﾈｼﾞ M3x10

62-2 P-10645 16 スクリューネジ(M4x12)ﾌﾟﾗﾈｼﾞ 鉄 M4x12

62-3 P-10851 2 プラスチックネジ(M2.2x5) M2.2x5

63 P-10837 16 六角ボルト(M5x25) SUS M5x25

63-1 P-10169 16 バネ座金（M5,SUS） SUS M5

63-2 P-10839 16 平座金（M5,外径10ｍｍ） SUS M5,外径10ｍｍ

68 P-31550 4 プラグ(K2：PPG) PPG 1/8"

75 P-10167 20 六角ナット（M5,SUS） SUS M5x0.8

80-2 P-30180 2 Oリング(P10,ニトリル) ニトリル 10D

80-2 P-30528 2 Oリング(P10, テフロン) テフロン 10D

80-2 P-30533 2 Oリング(P10, バイトン) バイトン 10D

80-3 P-31518 4 Oリング(K2：IN123,ﾆﾄﾘﾙ) ニトリル 1N-123

80-3 P-31539 4 Ｏリング(K2：IN12.5,ﾃﾌﾛﾝ) テフロン ＩＮ（Ｓ）12.5

80-4 P-31519 4 Oリング(K2：IN18,ﾆﾄﾘﾙ) ニトリル 1N-18

80-4 P-31538 4 Oリング(K2：IN18,ﾃﾌﾛﾝ) テフロン ＩＮ（Ｓ）18



M
o
d
e
l
 
:
 
K
2
 
P
U
M
P
 
(
P
・

F
 
t
y
p
e
)

5

8
0
-
2

3

4

1
3

1
3

4
3

8
0
-
2

5

8
0
-
45
5

2

2
-
1

1
5

1
4

1
5

1
4

2
-
1

1
6

7
5

8
0
-
3

5
4

8
0
-
3

5
48
0
-
4

5
5

2

5
2

5
2

6
3

3
2

6

7

1
0

8
0
-
35
5

8
0
-
4 4
9

5
1

8
0
-
3

8
0
-
3

8
0
-
4 4
95
5

8
0
-
3

5
1

6
8

6
8

6
8

6
8

7
5

8

9
6
2
-
2

6
2
-
2

7
5

7
5

7
5

7
5

6
1
-
1

6
1

6
3
-
2

6
3

6
3

6
3
-
2

4
0

3
9

1
1

6
2
-
2

1
7

3
9
-
11

6
2
-
1

1
0

1
8

1
17

9

63
6

6
2
-
2

8

3
8

9

1
0

6

7

8

3
4

3
5

3
1

3

3
-
1

ﾃ
ﾌ
ﾛ
ﾝ
ﾀ
ﾞ
ｲ
ｱ
ﾌ
ﾗ
ﾑ
の

場
合

2
1

6
3
-
2

6
3
-
1

6
3
-
1

6
3
-
1

9
-
1

4
4

6
2
-
3

2
2

3
7

50

0

5
3

5
3


